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The aim of this document is to give students the opportunity to trace at first
simple parabolas, then more complex ones and use the determinant to find the

zeros of a quadratic function.




PART 1

Study the simplest of all Quadratic functions: f(x) = y = x?

Activity 1) Study the function [x —e fly)=y= x* ]

by calculating y for the following different values of x and by completing the table below.

If x=-6 then y=
if x=-5 then y=
If x= -4 then y=
if x=-3 then y=
If x=-2 then y=
f x=-1 then y=
if x= 0 then y=
If x= 1 then y=
If x= 2 then y=
If x= 3 then y=
If x= 4 then y=
If x= 5 then y=
Activity 2) Summarise your results by completing the table below.




ACTIVITY 3) Trace y =f(x)

The graph you have just traced is called a parabola and is the shape used to
design satellite dishes all around the world.
What you just traced doesn't look like a satellite dish ? Go to part 2 and see.




PART 2

Study this Quadratic function : f(x) =y = 0.1 x°

Activity 1) Study the function [ x r—» f(x)=y= 01 x* J

by calculating y for the following different values of x and by completing the table below.

If x=-7 then y=

If x=-6 then y=

If x=-5 then y=

If x=-4 then y=

If x=-3 then y=

If x= -2 then y=

If x=-1 then y=

If x= 0 then y=

If x= 1 then y=

If x= 2 then y=

If x= 3 then y=

If x= 4 then y=

If x= 5 then y=

If x= 6 then y=

If x= 7 then y=

Activity 2) Summarise your results by completing the table below.




ACTIVITY 3) Trace y =f(x)

The graph you have just traced looks much more like a satellite dish now.
You should now perceive that the coefficient that multiplies the square term x2
determines how sharp or blunt the vertex ( pointy bit ) of the parabola is.




PART 3

Study this Quadratic function: f(x) = y = x'# 2x%8

2
Activity 1) Study the function [x —» fx)=y= x + 2 x -8 ]

by calculating y for the following different values of x and by completing the table below.

If x=-7 then y=

If x=-6 then y=

If x=-5 then y=

If x=-4 then y=

If x=-3 then y=

If x=-2 then y=

If x=-1 then y=

If x= 0 then y=

If x= 1 then y=

If x= 2 then y=
If x= 3 then y=
If x= 4 then y=

If x= 56 then y=

If x= 6 then y=

If x= 7 then y=

Activity 2) Summarise your results by completing the table below.







